/NJLaR—L presents $£19[E IATC2=7CUP 11

SF5E1H298(RH)
1F&E~284% R/ —FR—FDE &F

[(K&&E]

2FEER: ElLE (REEERRAX—I5) [2—X]

TDFRtEyvE— IKR¥EHE (KLEERERXF—15) RILERRAF—15

Aa—rERE:  INEBFHRE BESLYT HRI—X

o LA—: IMEAFE

ETRFETE R - IkE FEEIC-THEX

EFEH®RE: IRHABEE % 17 HEM

AIES: A FA4hoa4h D 7HIXIThH BASREERT:  10:01

B 4Ahnihrs E /RoPambES ¥BTHEM: 1009
C_ AAhniavx

JEfE | | No. | K % [ YA F | =& [ ZHF | 44L | [EBEF4E
1 3 |HmR N\E 1432 ¥T 2 00:46.08 10
2 1 |&EH XBE 345 IS 2 00:48.64 8
3 2 |BER Tt 2095 Nt 2 00:53.38 6
4 4 [PE B N A 1 00:58.62 4
5 6 |#EM A0 /LT FX 1 00:59.67 3
6 5 |EBE IBTE Yh LAAH 2 01:01.88 2
7 8 |Mft ;| AHLS TAA 2 01:06.64 1
8 7 |FE B Ab™D _X3AH 1 01:13.65 1




/N)Lark—L presents $£19[8] IATO2=7CUP & 15

SF5E1A29H(H)
155 ~284% R/ —KR—FDE BF
[(K&&E]
2FEER: ElLE (REEERRAX—I5) [2—X])
TDFRtEyvE— IKR¥EHE (KLEERERXF—15) ZhERRAF—15
AA—rgE: INEFHE BESLYT HRI—X
o LA—: IMEAFE
ETRFETE R - IkE FEEIC-THEX
EFEIGRE: RFBRE %% 17 HEM
AIES: A FA4HhJ253h D 7HIX<T7+Ah Fsa s : 10:10
B AhnihrF E RODaDMES R THERM: 10:23
C Ahnavx
JESE | | No. | K# | 2UHF | F 4 EEIREZ/NE Ii%?%n“\"{%
1 34 |8k &3 E7X a9k 2 00:47.92 10
2 22X H®E NES BT 2 00:48.29 8
3 33_|EE Bz EYTA VIR 1 00:48.87 6
4 21 |58 & AHhNY Y3y 2 00:48.98 4
5 21 _|#ERK BX H9E 54 1 00:49.61 3
6 26 |R/JI 1Bt A1 hT aovw 2 00:51.88 2
7 29 |ZH ¥H 25 FYIL 2 00:55.45 1
8 24 |tEk B winr =Ly 1 01:00.02 1
9 23 |Bi5 IR NN Y 1 01:01.24 1
10 30 |ME R IY/NS ATV 1 01:01.56 1
11 31 |IUF A a2 £ 1 01:03.57 1
12 32 (B E# NN TH 1 01:06.29 1
DQ5 28 | K& EiE AA LS 43 2 DQ5
DS 25 |##E 8 H3IF Ak 1 DS




/N)Lark—L presents $£19[8] IATO2=7CUP & 15

SF5E1A29H(H)
SEE~4FHE R/—KR—FDE LF
[(K&&E]
2FEER: ElLE (REEERRAX—I5) [2—X])
TDFRtEyvE— IKR¥EHE (KLEERERXF—15) ZhERRAF—15
Aa—rERE:  INEBFHRE BESLYT HRI—X
o LA—: IMEAFE
ETRFETE R - IkE FEEIC-THEX
EFEIGRE: RFBRE %% 17 HEM
AIESE: A FAAHhD25h D 7HIXT+AH BRSREERT:  10:24
B AhnNVhUF E /RoPahES ¥ THRE: 10:36
C AhnNiaX*x
JESE | | No. | K# | 2UHF | F 4 EEIREZ/NE Ii%?%fr\"{%
1 43 [/ DR F/\2 a/h 4 00:43.10 10
2 4 |ER FBE AATS kY 4 00:43.38 8
3 47 |#hK_ X 9Fx TV 4 00:44.11 6
4 48 |=B I E IvY O/ 4 00:44.33 4
5 42 |EH XHE 34 </N\O 4 00:45.10 3
6 52 |F% Eib NS4 %3 3 00:45.67 2
7 49 (Bl kKFS N %R 4 00:47.08 1
8 50 [/hE BHEZE AT FTRA 4 00:47.34 1
9 53 |[EE& AE EUTA ToF 4 00:48.46 1
10 41 MR EMERR A2 =4+ 3 00:50.29 1
11 46 [Z2E &HE AE FoF 4 00:50.51 1
12 45 |ERK EiE YHF aA 4 00:53.08 1
13 51 [{RiE HH1E 1k ah 4 00:53.46 1




/N)Lark—L presents $£19[8] IATO2=7CUP & 15

SF5E1A29H(H)
SEE~4FHE R/—KR—FDE BF
[(K&&E]
2FEER: ElLE (RHEERXX—5) [2—X])
TDFRtEyvE— IKR¥EHE (KLEERERXF—15) ZhERRAF—15
AA—rgE: INEFHE BESLYT HRI—X
LAY —: IMEAF
ETRFETE R - IkE FEEIC-THEX
EFEIGRE: RFBRE % 17 HEFY
AIESE: A FAAHhD25h D 7HIXT+AH BtARERT: 10:38
B AhnNVhUF E /RoPahES ¥ THR: 1055
C Ahnavx
JESE | | No. | K# | 2UHF | F 4 EEIREZ/NE Ii%?%fr\"{%
1 61 [#8K X AX* hAk 4 00:40.95 10
2 66 |1ER EX HH< Lk 4 00:41.30 8
3 70 |#EH & NFY LY 3 00:43.01 6
4 68 [E1 HBX AhNy 2954 4 00:43.68 4
5 65 |BEE B 2075 =3 3 00:45.86 3
6 64 |E1Z i AA=F 5 4 00:46.45 2
7 67 [I=)Il X HILHD FExE 4 00:47.30 1
7 63 |IUHE CEA Y4 YaotA 3 00:47.30 1
9 74 | FX XOF oA 4 00:47.49 1
10 79 |THER tHE I L 4 00:47.83 1
11 80 |{tkik =iE Yk aoF 3 00:48.73 1
12 72 |E1E E BHINS Lo 3 00:48.82 1
13 76 |HW B> BT YIRT 3 00:50.43 1
14 78 |1k F— YhY a(4F 3 00:50.53 1
15 71 [hEE BEAX HLbH EFA 4 00:50.87 1
16 75 |[WE 8 IY/NT O 4 00:51.10 1
17 62 |[{EE FnE Yy hX< 4 00:51.74 1
18 77 |HLL FEXBE A< 3407 3 00:58.62 1
19 73 |HR EF U N% 3 00:58.90 1
20 69 [{EH ##Kk 2948 Loy 4 01:22.45 1




/N)Lark—L presents $£19[8] IATO2=7CUP & 15

SF5E1A29H(H)
SEE~6F4E R/—R—FDE LF
[(K&&E]
2FEER: ElLE (REEERRAX—I5) [2—X])
TDFRtEyvE— IKR¥EHE (KLEERERXF—15) RILERRAF—15
Aa—rERE:  INEBFHRE BESLYT HRI—X
o LA—: IMEAFE
ETRFETE R - IkE FEEIC-THEX
EMEHRE:  RFHEE % 17 HEFY
AIESE: A FAAHhD25h D 7HIXT+AH BAIARERT: 1057
B AhnNVhUF E /RoPahES ¥ THR: 11:.05
C AhnNiaX*x
&Sz | [ No. K4 | 2UHF I F 4 EEIREZ/NE Iii%ﬁ%fr\"{%
1 95 [nniE ML Ao 5 5 00:39.14 10
2 100 |BAIER e FA 333 5 00:40.66 8
3 93 [FFE EX F/N YT 6 00:41.30 6
4 92 |MHE b= A a1Fx 5 00:42.99 4
5 99 [/ME BkE A1\5 EEH 6 00:44.62 3
6 91 /MR BR =4 Yo 6 00:44.66 2
7 96 [{Eik E\E Yh A4S 5 00:45.37 1
8 94 | £ IYIR T/ 6 00:45.39 1
9 97 |#ERAK IhEE S5 3/ 6 00:45.86 1
10 98 | KAR EE AFAIOR ISR 5 00:50.47 1




/N)Lark—L presents $£19[8] IATO2=7CUP & 15

SF5E1H298(RH)
SEE~6F4E R/—R—FDE BF
[(K&&E]
2ZER: ElLE (RHEERXX—5) [2—X]
TDFRtEyvE— IKR¥EHE (KLEERERXF—15) ZhERRAF—15
AA—rgE: INEFHE BESLYT HRI—X
o LA—: IMEAFE
ETRFETE R - IikE - FEE(C-THEX
EFEIGRE: RFBRE M % 17 HEM
AIESE: A FAAHhD25h D 7HIXT+AH BASREERT: 11:06
B AhnNVhUF E /RoPahES BTHERM: 11:16
C ARHNIIAXXE
JESE | | No. | K# | 2UHF | F 4 EEINEZ/NE Iii%i%fr\"{%
1 112 |#K B3 AXF¥ LAk 6 00:39.06 10
2 120 [{&EBR BEK Yhy I4(442 5 00:40.03 8
3 118 [#5K ARE AHRY 5 00:40.08 6
4 114 |h/E #iF Th4A A4JF% 5 00:41.23 4
5 117 | R E=5E A4HhT V% 5 00:41.69 3
6 115 |k LE YAk EOL 6 00:41.83 2
7 123 |Fk EEE NSA YaoH 5 00:42.23 1
8 111 |BX BE NES YL 5 00:43.46 1
9 113 | K#¥ 1&4E AALS 293 5 00:43.62 1
10 116 | FHE 1EfE e IAYirk= 5 00:45.38 1
11 124 |54 IR BHINS SHE 6 00:46.16 1
12 121 | E3K = HIb=A 7YY 5 00:53.57 1
13 122 |3if)) KRE AFXFX 244 6 00:54.83 1
DS 119 [£% HHE av/ 94 5 DS




